S U BJ E CT: Maths @hsto_miths

UNIT: Working in the Cartesian Plane
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| Quadrant: four quarters of the coordinate plane

| Coordinate: a set of values that show an exact postion

| Horizontat a straight Ine. from left to right (paralel to the x axs)
| Vertical a straight ine. from top to bottom (pardlel to the y axis)
| Origin: (0,0) on a gravh The point the two axes cross

: Paralel: Lines that never meet

| Gradeent: The steepness of a Ine
| Intercept: Where Ines cross

‘& can be. ONY postive
or negalive vale
incldng 0

N Ol the. points on ths line have  eg (3,-2) (7,-2) (2, -2)
all lay on ths Ine becase the
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UNIT: Representing data
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| Correlation: the mathematical definition for the tupe of relationship.

| Origin: where two axes meet on a graph

better {o aroup L This & so il & easier o look for a trend Form
aroups of equdl size to make comparison more vdid and spread the
growps out. from the smalest to the largest vale
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We do not know the exact vale of each tem n a grow — so an
estimate would be bused to catculate the overal total (Mdpont)

eg ths growp
rchdes every weignt

B0<x<70|g 5 biager that 60kg, w

| Variabe: quantity that may change. within the context of the. problem
| Relationship: the Ink betieen two variabs (items) E4 Between sy days and ice cream sales

| Line of best fit: a straignt Ine on a gragh that represents the data on a scatter araph

| Quanttatve: nurecal data

| utler: a point that lles outside the trend of gravh

| Quaitative: descriptive information, colours, genders, names, emotions efc.
| Contiruous: quantitative data that has an nfinte number of possible values within its range
| Discrete: quantitative or qualtative data that only tokes certain values.

Frequencg the number of times a particular data vae oceurs

N
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UNIT: Tables and Probability
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